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Simplify% =
-15+ 12 =

3124 + 22 =
____-264=364
2644 x 4 =
300mm=__cm
2.5x3=

984 + 8 =

Write 154 in Roman Numerals

2574 + 100 =

. e 9
Slmpllfyg—
-36 + 27 =
3696 + 22 =

_ -863=1624

7635 x4 =
450mm=__ cm
4.7x3 =

1512 -8 =

Write 1260 in Roman
Numerals =

83553 + 1100 =

T
Slmpllfy4—8 =
-127 +93 =
4708 + 22 =

_ -1643=3753

12653 x4 =
727mm=__ cm
8.92x3 =

2144 -8 =

Write 1893 in Roman
Numerals =

874563 + 1110 =



o

Simplifyli6 =
-15+12=-3
3124 +22 =142
628 - 264 = 364
2644 x4 = 10576
300mm = 30cm
2.5x3=7.5

984 -8 =123

Write 154 in Roman Numerals
= CLIV

2574 + 100 = 2674

Simplify % - i -
-36+27=-9
3696 - 22 =168
2487 - 863 = 1624
7635 x4 =30540
450mm =45cm
4.7x3=14.1
1512 + 8 =189

Write 1260 in Roman
Numerals = MCCLX

83553 + 1100 = 84653

Simplifyi—g =§
-127+93=-34
4708 +22 =214
5396 - 1643 = 3753
12653 x4 =50612
727mm =72.7cm
8.92x3=26.76
2144 - 8 =268

Write 1893 in Roman
Numerals = MDCCCXCIII

874563 + 1110 = 875673



